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(b)  Write down the type of correlation that is shown by the scatter diagram. [1
“ O .w P*ff\ﬂ
(c) Draw, by eye, aline of best fit on your scatter diagram )]

(d) Estimate the amount of money that may have been taken by ice cream sellers during one
day had 6100 people attended the festival on that day. [1]

£Loo

(e) Explain why it is not possible to work out how much a typical ice cream costs at the
festival. ]

I)n Ak f\-f.a _)cra Moy Eﬁf e ?Tt,f
._BTSP ?? o MAary &?‘.ﬁn_‘Ab vt o pan .

L

©WIEC CBAC Lid. (4370-03) Turn over.

aminer
only

B
f)

Hl

2

20

“|Examiner
16. The area of the trapezium is equal to the area of the right-angled triangle. o,
6cm
S5cm
10cm
10cm
xcm
Diagrams not drawn to scale
Calculate the value of x. [4]

Ae. 4 ﬁ.w..ab?.s?\ x\mtéﬁu.

My

: Vx 6 1
L

PRy

s Ld -

A

b 5*39(? Jhn\ rx%w O 2 “r¢

.......... w\ut\ﬁ

Ml

L1

- % ErA

ixsasayas

=

Al

L

© WJEC CBAC Lid. (4370-03)
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17. The pie charts show the proportion of boys to girls in class A and class B.

Class A

Class B

There are more pupils in class B than in class A.
There are 4 boys in class A,

There are 1 w times as many girls in class B than in class A.

How many boys are there in class B?

Examiner

only

B

4

NYPERA R

b)

to.ud.”ﬁr Y sv P Nfb & _%

bl

\CO-M Nu.u(—b w__)\Vu &

)

L

BWIEC CBAC Lid. {4370-03)

Turn over.

(b) Expand p(j? +4).

Y’ +ley

22
18. (a) Solve W+wmumm. o .rxu._s_,_unﬂ
% 22617 .
2 M)
XY % Yrl A
Z Z1C )
A N\

4

&

Pattern 1

O
® O
@]

“There will be ... I\

‘There will be &3._.“.

19. Patterns made with black and white circles are shown below.

Pattern 2

OO0
@ ® O
O 0O

Complete the following statements, in terms of n.

e DIACK Circles in Pattern n.

................ white circles in Pattern ».'

Pattern 3

O 0O0
®® 60
©0O0

3

)

Dl
£

L

© WJEC CBAC Ltd.

(4370-03)
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PAPER 1 - FOUNDATION TIER

Summer 2014 Paper 1 (Non calculator)
Foundation Tier Mana Commenty
I.(a) (i) 3411002 Bl
1.(a) (ii) seventy two thousand (no hundreds) (and) Bl
sixty five
1.(b) (i) 17 and 63 B1 B0 for 40+40.
1. (b) (ii) 39 Bl
1. (b) (iii) 63 B1
1.(b) (iv) 6 Bl | Allow 48/8 = 6, 6x8=48 but B0 for 48/6 = 8
1.(b) (v) 81 B1
1.(c) 120r16 B1 For 12, 16 or both. Allow 12x8 OR 16%6
As always, B0 for a choice of answers with at least one
answer incorrect
1. (d) (i) 6570 Bl
1. (d) (ii) 6600 Bl
2. (a) (i) 7652 B1
2. (a) (i) 2576 B1
2. (b) (i) (06 BI
2. (b) (ii)2-92 Bl
2. (c) 2-9x100 OR 3x98 OR 3x100 M1 Only these three estimates.
= 290 OR 294 OR 300 Al M1.A1 for unsupported answers of 290, 294 OR 300
v Special cases
3. Hours = 20 x 15 (minutes) 20 x % (hours) Ml Candidates who do
= 300 (minutes) = 5 (hours) Al ‘hours' not required at this stage | 8§x20+12 get
Payment=8 = 5 + 12 M1 F.T. ‘their time’ (must be an SC1 for the (£)172
=(£) 52 Al attempt to convert to hours). Similarly SC1 for
(£)132 from 8x15+12
Look for QwWcC
e spelling 2
e  clarity of text explanations,
e the use of £s, hours and minutes QWC2 Presents relevant material in a coherent and logical
QWC2: Candidates will be expected to manner, using acceptable mathematical form, and with few
e  present work clearly, with words explaining if any errors in spelling, punctuation and grammar.
process or steps o
AND QWCI Presents relevant material in a coherent and logical
o make few if any mistakes in mathematical manner but with some errors in use of mathematical form,
form, spetling, punctuation and grammar and spelling, punctuation or grammar.
include units in their final answer OR_ . - . )
Evident weaknesses in organisation of material but using
QWCI: Candidates will be expected to acceptable mathematical form, with few if any errors in
e  present work clearly, with words explaining spelling, punctuation and grammar.
rocess or steps
OR P P QWCO Evident weaknesses in organisation of material, and
e  make few if any mistakes in mathematical errors in use of mathematical form, spelling
form, spelling, punctuation and grammar and
include units in their final answer

©WJEC CBAC Lid.



Summer 2014 Paper 1 (Non calculator)

Foundation Tier Matks Comments
4. (a) certain Bl (Welsh is sicr)
4. (b) unlikely Bl (Welsh is annhebygol)
4. (c) even chance Bl Do not accept 'even’ but B1 for 'evens'.
5.(a) (i)39 B1 B0 for 6nt+9
(ii) 44 Bl
5. (b) Divide the previous term by 4 Bl Accept +4. Accept x Y. Accept quarterly.
Accept 'halve and halve again'
B0 for dividing into quarters BO for n/4
5.(c) (p=3%2 +4x3 — 6x—1 =) 6+12+6 M1 Award only when a correct substitution is assured
=24 Al Unsupported 24 gets M1,Al. Any other unsupported answer
gets M0,AQ.
SC1 for seeing 6+12—-6 = 12
5. (d) 4x ISW Bl
All parts (a) — (b) marked at the same time W
To be viewed with diagram You must also check the diagram for any working,
6. (a) Missing inside segment =2 S1 Must be seen in part (a).
Perimeter = 9+9+8x3+2x2 M1 Attempt to add all sides of the shape.
Use 42+2x for M1 where x stands for ‘their 2’
S1, M1 for methods that imply the '2', e.g. 9x2+8x2+4x3
= 46 (cm) Al C.A.O.
To be viewed with diagram
(b) Area=8x3+4x3x3 OR 8x9 —2x3x2 M1 Attempt to add all areas of the shape OR difference of areas
(=24 +36) (=72-12)
=60 Al C.A.O.
cm’ Ul Independent of all other marks.
7. A(—4,2),B(—1, -5) and C(4, 3) plotted. B3 B1 for each. Reversed coordinates get B0,
Condone missing letters or A, B and C used instead of
dots, as long as the points are identifiable.
Ignore triangles joining the points.
8. (a) Use overlay
XYZ =620 (12°) Ml
XZY  =47° (£2° Ml
Completed triangle. Al Dependent on at least one M.
SC2 for a ‘reversed’ triangle (see overlay).
8. (b) Obtuse (Aflem) B1 Accept misspellings.
To be viewed with diagram v
9. Volume =20 = 15 x 10 (= %) Ml No need for the Y for the M1.
= 1500 (cm”) Al | CAO
= 1500/1000 M1 FT 'their 15001000
= 1-5 litres Al ‘litres’ not required but A0 for incorrect units.
To be viewed with table
10. (2) (£) 8.40 and 10:35 (a.m.) B2 B1 for each
B0 for 10 minutes
To be viewed with table v Per person solutions
10. (b) Taxi fare is (£)17 - (£)27 Bl Taxi fare is (£)17 - (£)27 Bl
Tube tickets cost (£)20 Bl Divides any taxi fare by 5 1
Compares (£)17 with (£)20 Bl Compares (£)3.40 with (£)4 Bl
Compares (£)27 with (£)20 Bl F.T. their figures Compares (£)5.40 with (£)4 B1

2 taxis (Maximum 3 marks available)
Taxi fare is (£)34 - (£)54

Tube tickets cost (£)20

Taxi (always) more than tube

W
—
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Foundation Tier Marks Comments
11. (a)
B2 B1 for 3 or more correct lines drawn AND no incorrect
lines.
11. (b) B2 BI for each of 1st and 3rd quadrants
12. (3/8)=28)3.000 M1 Any valid method.
Must show a division method being implemented
(0).375 ISW Al MO0, A0 for unsupported (0).38
All parts {a) — (b) marked at the same time
13.(a) (62) 62 (63) 64 B2 B1 for at least 3 correct entries
(52) 52 33 (54
(42) (42) 43 44
(32) (32) (33) 34
. 6 B2 F.T. their table
— LS.W. .
®® 16 B1 for a numerator of 6 in a fraction less than 1.
B1 for a denominator of 16 in a fraction less than 1.
Penalise -1 once only for wrong notation. e.g. 6 out of 16
OR 6:16
(iD) 6 of 400 M1 E.T. their (b)(i) if a fraction less than 1. (£1/2)
16 MI1,AQ for 8/16 of 400 if it is F.T. from their table
=150 Al 150 out of 400 gets the M1, A1 but 150/400 gets M1, AQ.
AQ if using an incorrect reduction of the fraction from (b)(i)
To be viewed with diagram
14.(a) (x=) 180-53-53 M1
= 74(°) Al
To be viewed with diagram General principle
14. (b) 360—(112+67+78) OR 360 -257 M1 257 =360 =103 gets M1,A1
103(%) Al | y=103(°) as final answer | 257 —360 # 103 gets M0,A0
gets M1,A1,BO
(y=) 77(°) Bl | FT 180 — ‘their 103’

Questions 15 — 21 except 19(a) are common with the Higher Tier.

This Mark Scheme will be amended to match the Higher Tier throughout the conference.
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Foundation Tier Migks Comments
All parts (a) — (e) marked at the same time
15.(a) All points plotted correctly B2 Intention: closer to the correct intersection than to any others

B1 for indication of at least 3 correct points
Penalise joining point to point -1

(b) Positive Bl Do not accept descriptions
To be viewed with graph
(c) Line of best fit with points above and below B1 The line must be fit for purpose, it should not pass through
the intersection of the axes
Ignore also joining point to point
To be viewed with graph
(d) Their estimate, from use of their line of best fit, or Bl Accuracy to the nearest £10 )
an answer in inclusive interval 390 < ‘their estimate’ < FT for their incorrect line of best fit with accuracy to the
410 nearest £10
(e) Explanation, that it doesn’t tell you, e.g. ‘only El Ignore incorrect statements given with a correct response.
know how many attend, not how many spent money on Accept answers that state or imply, don’t know:
ice cream’, or ‘don’t know how many ice creams were e how many ice cream sold, or
sold’ e how many people bought ice cream
Allow answers that state or imply, don’t know:
e different costs of ice cream (days or ice creams)
e.g. accept ‘different ice creams cost different amounts’,
‘don’t know who bought what’, ‘sellers change prices on
different days’
To be viewed with diagram +
16. Area trapezium =% x 5 x (6 + 10) M1
=40 (cm®) Al
Triangle: % = 10 x x=40 M1 For equating “their 40° (any value) with % x 10 x x
(x=)8(cm) Al FT correct evaluation from ‘their 40° (their value)
SC2 for an answer 8(cm) from area of trapezium =
5 x (6 + 10) = 80 followed by area of triangle =10 x x = 80,
or
SC1 for a 2 stage method equating 10 * x with
5 x (6 + 10) with error in calculating x
A full one stage method 10 x x = 5 x (6 + 10) or equivalent
is correct for 3 marks.
To be viewed with diagram v
17. Class A has 12 girls B1
Class B has 18 girls Bl FT 1'4 x ‘their 12 correctly evaluated (but NOT 1% x 4)
Sight of 18 implies first BI, B]
There are twice as many girls as boys in class B, Bl OR Class B: Angle girls 240°+2° and angle boys 120°+2°
or ' of class B boys, or % of class B girls This may be implied from their numbers of girls and boys in
class B.
Note: ¥ of 18 does not imply % of class B boys, hence B0
‘18 is 75", implies Bl
Class B has 9 boys Bl CAO
18.(a) x/2=26-18 OR x+ 18x2=26x%2 M1 | OR alternative full correct method
x=16 Al Mark final answer .
Accept embedded answer, e.g. 16/2 + 18 = 26
18.(b)y’ +4y B2 B1 for a correct term.
Mark final answer for B2.
19. Accept use of N
n (black) Bl
2n + 1 or equivalent (white) B2 B! for 2n or equivalent

Penalise use of other letters -1 only
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an appropriate b or ¢ angle indicated on the diagram

Foundation Tier Marks Comments
To be viewed with diagram
20. An appropriate angle 180 —a — b or 180 —(a+b), or B1 Must be shown or stated

OR

Third shape: 3 (sides)

(¢ =)180—-(180—a—b) Mi Or equivalent rearrangement, e.g. a+ b+ 180 — ¢ = 180
¢ =)a+b Al
For answer only (c =) a + b without working or indication of
any appropriate b or ¢ angles award B0, M1 and Al.
For answer (¢ =) a + b with working or indication of any
appropriate b or ¢ angles award B1, M1 and Al.
21. 12 sided shape: exterior angle 360/12 (= 30°) Bl OR M1 Interior 10~ 180 + 12
interior angle (1807 - 30° =) 150(°) OR sketch showing one Bl Al =150(°)
30° exterior angles, e.g. OR B2 for interior angle found to be 150(°)
au-:
Gap is 360 — 150 — 150 OR sketch implying the sum of the 2 M1 FT for use of ‘their 150°
angles of 30° is the remaining exterior angle, e.g.
Appropriate 60(°) or sketch showing 60° ¢.g. Al
60° 0
o
Al CAO. Allow (equilateral) triangle

If correct answer with sight of angles:
Sight of 150(°) or 30(°) AND 60° followed by an answer 3 (sides)

or triangle is awarded 5 marks

or
Sight of 150(®) or 30(°) followed by an answer 3 (sides) or triangle
is awarded 4 marks only (as working is incomplete)

or
Sight of 360(°)/12 followed by an answer 3 (sides) or triangle is
awarded 3 marks only (as working is incomplete)

OR if no warking or errors in calculations:

Award SC2 for an answer of 3 sides or(equilateral) triangle.

OR

Award SC2 for a diagram of a tessellation of a number of sides of
two 12-sided polygons showing a triangle.

Award SC1 for a diagram of an attempt at a tessellation of a
number of sides of two 12-sided polygons showing a triangle.
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